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Equinox
created by Lisa Overby

Asymmetrical triangle shawl knit with 1 skein of fingering weight yarn. This
easy pattern is a mixture of relaxing garter stich and simple eyelets.
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MATERIALS & INFO
Yarn: 1 skein Yarn Twisters SW Sock Yarn 38om (415

yards)/100 g; 75% Superwash Merino, 25% Nylon; Sam-

ple knit in colourway Make it Blue! Make it Pink!

Gauge: 20 sts by 48 rows equal 4” by 4” in garter be-
fore blocking

Needles: 3.75mm (US 5) 32” circular needles, or size
needed to obtain gauge

Notions: darning needle

Finished size: Centre Depth: 14” (35.5 cm); Wingspan:

55” (140 cm)

PATTERN INSTRUCTIONS

Set Up

CO 3sts

Row 1: kfb, kfb, k1 (5 sts)

Row 2: k1, k2tog, kfb, k1

Row 3: k1, kfb, k to end (6 sts)

Garter Section

Row 1 (RS): k1, k2tog, k to last 2 sts, kfb, ki
Row 2 (WS): kfb, k to end (1 st increased)

Repeat Rows 1 and 2 twenty-three more times (30
sts)

Main Section

Row t: k1, k2tog, [yo, k2tog] to last 3 sts, k1, kfb, k1
Row 2: kfb, p to last 2 sts, k2 (31 sts)

Row 3: k1, k2tog, [yo, k2tog] to last 2 sts, kfb, k1
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ABBREVIATIONS

BO - bind off

CO - caston

k - knit

k2tog - knit 2 together; insert needle into the next 2

sts, knit the 2 sts together as one (1 st decreased)

kfb - knit into the front of the stitch, leaving on the
left hand needle, knit into the back of the same stitch,
dropping the stitch off the left hand needle (1 stitch
increased)

LHN - left hand needle

p - purl

RHN - right hand needle
RS - right side

st/sts - stitch/stitches
WS - wrong side

yo - yarnover (1 st increased)

Row 4: kfb, p to last 2 sts, k2 (32 sts)

Rows 5 to 20: Repeat Rows 1and 2 of garter section
eight times (40 sts)

Row 21: k1, k2tog, [yo, k2tog] to last 3 sts, k1, kfb, k1
Row 22: kfb, p to last 2 sts, k2 (41 sts)

Rows 23 to 38: Repeat Rows 1and 2 of garter section
eight times (49 sts)

Row 39: k1, k2tog, [yo, k2tog] to last 2 sts, kfb, k1
Row 4o0: kfb, p to last 2 sts, k2 (50 sts)

Row 41: k1, k2tog, [yo, k2tog] to last 3 sts, ki1, kfb, k1
Row 42: kfb, p to last 2 sts, k2 (51 sts)

Rows 43 to 82: Repeat Rows 1 and 2 of garter section
twenty times (71 sts)

Row 83: k1, k2tog, [yo, k2tog] to last 2 sts, kfb, k1
Row 84: kfb, p to last 2 sts, k2 (72 sts)
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PATTERN INSTRUCTIONS cont’d

Row 85: k1, k2tog, [yo, k2tog] to last 3 sts, k1, kfb, ki1
Row 86: kfb, p to last 2 sts, k2 (73 sts)

Row 87: k1, k2tog, [yo, k2tog] to last 2 sts, kfb, k1
Row 88: kfb, p to last 2 sts, k2 (74 sts)

Row 89: k1, k2tog, [yo, k2tog] to last 3 sts, ki1, kfb, ki1
Row 90: kfb, p to last 2 sts, k2 (75 sts)

Row 91 to 106 Repeat Rows 1 and 2 of garter section
eight times (83 sts)

Row 107: k1, k2tog, [yo, k2tog] to last 2 sts, kfb, k1
Row 108: kfb, p to last 2 sts, k2 (84 sts)

Row 109: k1, k2tog, [yo, k2tog] to last 3 sts, k1, kfb, k1
Row 110: kfb, p to last 2 sts, k2 (85 sts)

Rows 111 to 126: Repeat Rows 1 and 2 of garter section
eight times (93 sts)

Row 127: k1, k2tog, [yo, k2tog] to last 2 sts, kfb, k1
Row 128: kfb, p to last 2 sts, k2 (94 sts)

Row 129: k1, k2tog, [yo, k2tog] to last 3 sts, k1, kfb, k1
Row 130: kfb, p to last 2 sts, k2 (95 sts)

Row 131: k1, k2tog, [yo, k2tog] to last 2 sts, kfb, k1
Row 132: kfb, p to last 2 sts, k2 (96 sts)

Row 133: k1, k2tog, [yo, k2tog] to last 3 sts, k1, kfb, k1
Row 134: kfb, p to last 2 sts, k2 (97 sts)

Rows 135 to 174: Repeat Rows 1 and 2 of garter sec-
tion twenty times (117 sts)

Row 175: k1, k2tog, [yo, k2tog] to last 2 sts, kfb, ki
Row 176: kfb, p to last 2 sts, k2 (118 sts)

Row 177: k1, k2tog, [yo, k2tog] to last 3 sts, ki1, kfb, k1
Row 178: kfb, p to last 2 sts, k2 (119 sts)

Row 179: k1, k2tog, [yo, k2tog] to last 2 sts, kfb, k1
Row 180: kfb, p to last 2 sts, k2 (120 sts)

Row 181: k1, k2tog, [yo, k2tog] to last 3 sts, k1, kfb, ki1
Row 182: kfb, p to last 2 sts, k2 (121 sts)

Row 183: k1, k2tog, [yo, k2tog] to last 2 sts, kfb, k1
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Row 184: kfb, p to last 2 sts, k2 (122 sts)
Row 185: k1, k2tog, [yo, katog] to last 3 sts, ki1, kfb, ki1
Row 186: kfb, p to last 2 sts, k2 (123 sts)

Rows 187 to 202: Repeat Rows 1 and 2 of garter sec-
tion eight times (131 sts)

Row 203: k1, k2tog, [yo, k2tog] to last 2 sts, kfb, k1
Row 204: kfb, p to last 2 sts, k2 (132 sts)

Row 205: k1, k2tog, [yo, k2tog] to last 3 sts, k1, kfb, k1
Row 206: kfb, p to last 2 sts, k2 (133 sts)

Row 207: k1, k2tog, [yo, k2tog] to last 2 sts, kfb, ki
Row 208: kfb, p to last 2 sts, k2 (134 sts)

Row 209: k1, k2tog, [yo, k2tog] to last 3 sts, ki1, kfb, ki1
Row 210: kfb, p to last 2 sts, k2 (135 sts)

Rows 211 to 226: Repeat Rows 1 and 2 of garter sec-
tion eight times (143 sts)

Row 227: k1, k2tog, [yo, k2tog] to last 2 sts, kfb, k1
Row 228: kfb, p to last 2 sts, k2 (144 sts)

Row 229: k1, k2tog, [yo, k2tog] to last 3 sts, k1, kfb, ki
Row 230: kfb, p to last 2 sts, k2 (145 sts)

Row 231: k1, k2tog, [yo, k2tog] to last 2 sts, kfb, k1
Row 232: kfb, p to last 2 sts, k2 (146 sts)

Row 233: k1, k2tog, [yo, k2tog] to last 3 sts, ki1, kfb, k1
Row 234: kfb, p to last 2 sts, k2 (147 sts)

Finishing and Bind off

RS: k1, k2tog, k to last 2 sts, kfb, k1

WS: BO all stitches in the following manner to ensure
a stretchy edge: k1, *k1, insert LHN into the 2 sts on
the RHN, knit the 2 sts together through the back
loop. Repeat from * until all sts have been bound off

Weave in ends, block to measurements
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